=M 0IR0IH D
M QIAET 2[4
SRl AR 2SO NIAH D (Sl &2)
SM-EH . C(BH) - HRAY - B2 0ff &+ o4 )= e B2
I 1,531,718 1,440, 174 91,544
=2 3,229 11,795 1,434
Al 1,518,489 1,428,379 90, 110
DlEOIES )3 1,476,578 1,385, 144 91,434
2 13,229 1,795 1,434
Al 1,463,349 1,373,349 90,000
NSl S| BRI P& 561, 101 469,667 91,434
= 13,229 1,795 1,434
Al 547,872 457,872 90,000
SHA DA 2Y 96, 464 6,464 90,000
201 Lty 21,560 6,464 15,096
01 At 2r2ly| 21,560 6,464 15,096
O365AHILE SEAl QIKAME LY (HBH, Al
HEXEHT) 15,006, 0002 15,096 0 15,096
401 Al&HIL 20| 52, 104 0 52, 104
01 Al&H] 52, 104 0 52, 104
O365AHLE SHEAl QIAME SX(LBH, A
ZABHI) 52, 104,0002 52, 104 0 52, 104
405 THAHE SHI 22,800 0 22,800
01 RAUSEH S| 22,800 0 22,800
O36BAHLE Rl QIAME HBPU (LA,
NEESEEE)) 22,800, 0002 22,800 0 22,800
ClERIRA 29 3,229 11,795 1,434
= 13,229 11,795 1,434
201 Lty 12,179 11,795 384
= 12,179 11,795 384
01 Attt 12,179 1,795 384
OCANRE 28| €4 7 (L)
3,00024 *47H 332 0 332
= 332 0 332
OCANPESE SEIY(SYR) 52,0008 52 0 52
= 52 0 52
405 THAHE S 1,050 0 1,050
=2 1,050 0 1,050
01 RAUSEH S| 1,050 0 1,050
OGRS SEPY(HYR) 1,050 0 1,050
—Jt&0 75,0002 *6CH 450 0 450
= 450 0 450
—=8) 200,0002 *3CH 600 0 600
=2 600 0 600
HRES (02 D) 110 0 110
SENE 10 0 110
BHEr3 JlEt 110 0 110
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